CPD Quarterly Quiz
January 2006 – Worked Solutions
Question 1

The Pensions Commission has produced a report recommending the establishment of a national pensions savings scheme.

Which of the following accurately describes the criteria for employees joining such a scheme?

(a) all employees would be automatically enrolled with no opt-out. Employees would contribute 4% and the employer around 3%
(b) all employees would be automatically enrolled with an opt-out.  Employees would contribute 4% and the employer around 3%
(c) all employees would be automatically enrolled after 12 months service with no opt out.  Employees would contribute 5% and the employer around 5%

(d) all employees would be automatically enrolled after 12 months service with an opt out.  Employees would contribute 3% and the employer around 5%

(e) don’t know

Answer

The right answer is (b)  all employees would be automatically enrolled with an opt-out.  Employees would contribute 4% and the employer around 3%

The Treasurer Jan/Feb 2006, Marketwatch News and Turner Report, Great debate, little agreement.

The Pensions Commission website: http://www.pensionscommission.org.uk/publications/2005/annrep/executive-summ.pdf
Question 2

The EU has issued its New Legal Framework for Payments, alternatively entitled the Payments Directive.  This is seen as a necessary step towards a single euro payments area, (SEPA).
Which one of the following statements is accurate?

(a) the directive covers only euro payments and it states that electronic credits must be made for value the next day.

(b) the directive covers euro and sterling BACS payments and states that banks must not take any float period, i.e. holding funds before giving good value.
(c) the directive covers euro and sterling BACS payments and states that all electronic credits must be for value in two days

(d) the directive covers only euro payments and states that payments must be made in full with no deductions for charges

(e) don’t know

Answer

The right answer is (b) 
the directive covers euro and sterling BACS payments and states that banks must not take any float period, i.e. holding funds before giving good value.

The Treasurer January/February 2006, Technical Update

The EU website: www.europa.eu.int/comm/internal_market/payments/framework/index_en.htm
Question 3

Towards the end of 2005 the Chancellor of the Exchequer announced that he would remove the obligation on UK companies to produce an Operating and Financing Review (OFR).

Which of the statements below reflects the ACT’s response to the Chancellor’s announcement?

(a) it is to be welcomed, reducing the onerous burden of regulation on UK PLC

(b) it is to be welcomed as the OFR is replaced by the EU equivalent

(c) the OFR should still be encouraged in the interests of good risk management and investor communication

(d) the OFR should be encouraged in the interests of retaining the UK’s supremacy in shareholder protection
(e) don’t know

Answer

The right answer is (c)   the OFR should still be encouraged in the interests of good risk management and investor communication

The Treasurer January/February 2006, Technical Update
ACT website: http://www.treasurers.org/technical/papers/resources/actofrletter_dec05.pdf
Question 4

You have a lending syndicate of fourteen banks.  Of these, three are strong, multinational institutions who are also your relationship banks.  The remaining eleven are non-UK banks with whom you have hardly any real relationship; they are not major institutions.  You have always paid interest gross, as required by the documentation, directly to each bank’s overseas head office.  Following advice, you have asked each bank to confirm that it has treaty clearance approval from HMRC (ex Inland Revenue).
Until you are sure of each bank’s response, which of the following actions should you take?

(a) continue paying interest gross as any clearance has always been retrospective
(b) deduct 25% from the due interest as withholding tax until the clearance is confirmed or granted

(c) deduct 20%  from the due interest as withholding tax until the clearance is confirmed or granted

(d) continue paying interest gross, it will all sort itself out in the end

(e) don’t know

Answer

The right answer is (c)  deduct 20%  from the due interest as withholding tax until the clearance is confirmed or granted

It used to be that clearance was granted retrospectively to the date of the application.  That is no longer the case.  So now, a UK company that pays gross without formal clearance to do so can be charged interest for late payment of withholding tax and even fined for failing to file a correct return to report the withholding.  UK treasurers are urged to monitor any banks with whom they deal very carefully to ensure that, where the loan is not held by a UK branch, all clearances are in fact held, including any secondary purchasers of their bank debt.
The Treasurer, January/February 2006, News p5

The Treasurer, January/February 2006, Emerging Tax Themes by Mohammed Amin, PwC
Question 5

In December 2005 Marks and Spencer won a landmark legal case relating to the refusal of the Inland Revenue (now HMRC) to allow tax losses from non-UK operations.
Which of the following most closely reflects the outcome of the case?

(a) overseas losses are allowable expenses against UK taxable profits

(b) overseas losses are not allowable expenses against UK taxable profits

(c) when a UK company’s non-UK European operations result in a net loss, then that net loss is allowable against UK taxable profits

(d) when a UK company ceases operations in a country resulting in a cumulative net loss in that country, then that net loss is allowable against UK taxable profits

(e) don’t know

Answer

The right answer is (d)  when a UK company ceases operations in a country resulting in a cumulative net loss in that country, then that net loss is allowable against UK taxable profits

FT.com

Financial Times Dec 14th, various articles
Question 6

The 2004 Pensions Act created the office of the Pensions Regulator and gave it a range of powers.  If the Regulator believes that there is an attempt to avoid pension liabilities it can deploy two main powers; a contribution notice and a financial support direction.

Which of the following statements most closely reflect these two powers?

(a) a contribution notice can be for an amount up to the full buyout amount; the financial support direction can order associated companies to provide support for pension liabilities
(b) a contribution notice can be for an amount up to the IAS19 net liability; the financial support direction can order companies with common shareholders to provide support for pension liabilities

(c) a contribution notice can be for an amount up to the FRS17 net liability; the financial support direction can order associated companies to provide support for pension liabilities

(d) a contribution notice can apply to employee’s and employer’s contributions; the financial support direction can order companies with common shareholders to provide support for pension liabilities

(e) don’t know

Answer

The right answer is (a)  a contribution notice can be for an amount up to the full buyout amount; the financial support direction can order associated companies to provide support for pension liabilities.

The full buyout amount is higher than either of the other two alternatives, being the amount that an insurance company would require to assume the pension liability.  The financial support direction is to cover situations where a group service company might be established to hold pension liabilities as a ploy to avoiding ultimate liability.
The Treasurer December 2005, Have you got clearance? David Norgrove, Chairman of the Pensions Regulator

The Pensions Regulator website: http://www.thepensionsregulator.gov.uk
